Palestine Technical University

Special Topics in Control 

Test 1 (March 2011)

Answer ALL Questions

Q1
Give the answer to the following Matlab commands:
	
	Command
	Answer
	Marks

	1
	>>6^2​16​ 18/3*3^2
	Ans=................................
	[2 Marks]

	2
	>>27^1/3 + 32^0.2/2
	Ans=................................
	[2 Marks]

	3
	>>3/2*sqrt(16)-3+10*27^1/3 + 32^0.2
	Ans=................................
	[2 Marks]

	4
	>>x = 9/(2i) –3.5i.
	X=....................................
	[2 Marks]

	5
	x = [2 3 4 5]; 

y=[2 0 6 5]

 >> z = (x < y)
>>z = (x > 8)
>>z = (x ~= y)
	Z=....................................

Z=....................................

Z=....................................
	[2 Marks]

[2 Marks]

[2 Marks]


Q2

Write the MATLAB commands to find the roots of the cubic equation:

3 x3 – 4x2 + 45x – 43 = 0 





[6 marks]
Q3

Write the MATLB commands that gives the solution of the following linear Algebraic Equations:
-2x + 14y + 8z = 50
3x – 4y + 3z = 15
7x + 5y  + 6z = 45





[6 marks]
Q4

Write what the following commands will result in after execution in MATLAB

>>syms x y
>>E = x^3+5*x+20;
i) >>F = subs(E,x,y)









[3 marks]
ii) >>G = subs(E,x,2)









[3 marks]
Q5
Write what value would you get from MATLAB after executing the following commands:

>>syms x
a) >>int(x^2+4,0,6)









[3 marks]
b) >>diff(x^4,2)










[3 marks]
Answers

Q1

Give the answer to the following Matlab commands:

	
	Command
	Answer
	Marks

	1
	>>6^2​16​ 18/3*3^2
	Ans= -34
	[2 Marks]

	2
	>>27^1/3 + 32^0.2/2
	Ans= 10
	[2 Marks]

	3
	>>3/2*sqrt(16)-3+10*27^(1/3) + 32^0.2
	Ans=35
	[2 Marks]

	4
	>>x = 9/(2i) –3.5i.
	X= - 8 i
	[2 Marks]

	5
	x = [2 3 4 5]; 

y=[2 0 6 5]

 >> z = (x < y)
>>z = (x > 3)
>>z = (x ~= y)
	Z=[0 0 1 0]
Z=[0 0 1 1]
Z=[0 1 1 0]
	[2 Marks]

[2 Marks]

[2 Marks]


Q2

Write the MATLAB commands to find the the roots of the cubic equation:

3 x3 – 4x2 + 45x – 43 = 0, 
>>a = [3,-4,45,-43];
>>roots(a)
ans =
Q3

Write the MATLB commands that gives the solution of the following linear Algebraic Equations:
-2x + 14y + 8z = 50
3x – 4y + 3z = 15
7x + 5y  + 6z = 45

>>A = [-2 14 8;3 -4 3;7 5 6]; B=[50;15;45]; >>Solution = A\B
Q4

Write what the following commands will result in after execution in MATLAB

>>syms x y
>>E = x^3+5*x+20;
>>F = subs(E,x,y) 

F =    y^3+5*y+20
iii) >>G = subs(E,x,2)
   G =38
Q5

Write what value would you get from MATLAB after executing the following commands:

>>syms x
a) >>int(x^2+4,0,6) 
ans = 96
b) >>diff(x^4,2) 

ans=12*x^2
